Fourier Series Synthesis
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>>t=0:0.01:4;

>>x=(1/2)+(2/pi)* cos(pi* t+1.5708)+(2/(3* pi))* cos(3* pi* t+1.5708)+(2/(5* pi))* cos(5
*pi*t+1.5708)+(2/(7* pi))* cos(7* pi* t+1.5708)+(2/(9* pi))* cos(9* pi*t+1.5708)+(2/(11
*pi))* cos(11* pi*t+1.5708);

>> plot(t,x)
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>>t =0:0.01:4;

>>x=(1/2)+2/p1)*sin(pi*t)+(2/(3*p1))*sin(3*p1*t)+(2/(5*p1)) *sin(S*p1*t)+(2/(7*p1)) *sin(7
*p1*1)+(2/(9*p1)) *sin(9*p1*t)+(2/(1 1*p1))*sin(1 1 *p1*t);

>>plot(t,x)
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>>t=-4.0.01:4;
>>x=(4/pi)* cos(((pi*t)/2)+1.5708)+(4/(3* pi))* cos(((3* pi*t)/2)+1.5708)+(4/(5* pi))*c



os(((5* pi*t)/2)+1.5708)+(4/(7* pi))* cos(((7* pi*t)/2)+1.5708)+(4/(9* pi))* cos(((9* pi* t
)/2)+1.5708)+(4/(11* pi))* cos(((11* pi*t)/2)+1.5708);
>> plot(t,x)
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>>t=-4.0.01:4;

>>x=(4/pi)* sin((pi*t/2))+(4/pi)* (1/3)* sin((3* pi* t/2))+(4/pi)* (1/5)* sin((5* pi* t/2))+(4/
pi)* (L/7)*sin((7* pi*t/2))+(4/pi)* (1/9)* sin((9* pi*t/2)) +(4/pi)* (1/11)*sin((11* pi*t/2));
>>plot(t,x)
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>>t=-2:0.01:2;

>>x=1+(4/pir2)* cos((pi* t)/2)+(L/pi)* cos(pi* t+1.5708)+(4/(9* pir2))* cos((3* pi*t)/2)+
(1/(2* pi))* cOS(2* pi* t+1.5708)+(4/(25* pir2))* cos((5* pi* t)/2)-+(L/(3* pi))* cos(3* pi* t+
1.5708)+(4/(49* pin2))* cos((7* pi* t)/2)+(L/(4* pi))* cos(4* pi* t+1.5708)+(4/(81* pir2))

* c0s((9* pi*1)/2)+(L/(5* pi))* cos(5* pi* t+1.5708)+(4/(121* pir2))* cos((11* pi* t)/2)+(L/

(6* pi))* cos(6* pi*t+1.5708);
>> plot(t,x)
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